=& 10A AGIF

B K4 ouT IN Total Hdcp  Net R 014105138
B X B | 39] 24] 83[ 112] 718 ¥=TIIA
#EE KE ER | 39] #H] 8] 75 725 Y=T IR
5 H% FE | 43] 4] 84 100] 740] ¥ETH32
4 A EH | 45] 37| 82| 16| 744 S=THFR
o A & | 49] 44] 93] 186] 744 T
6 Ri =E | 42| 22] _84] 170] 670] e Y=TIIR
7 @I ME | 45] 41 86] 140[ 720] A B Z=TIIR
8 &N K | 49 48] 97] 220] 750 YETIIA
9 % BRE | 45| 45]  90] 12.0[ 780 v=TIIR
10 =4 E= | 52] 52] 104] 260[ 780] Y=TIIR
11 IRA = | 46| 48] 94] 150[ 79.0] ¥=TIIR
12 #E1E = | 55] 48] 103] 230[ 80.0] vETIIR
13 AR #FX | 49] 53] 102] 183 837 Z=TIIR
14 KA 7 | 52] 55] 107] 230[ 840 vETIIR
15 =k & | 59 55] 114] 21.0[ 93.0] v=TIIR
16 /NR BE | 67| 53] 120] 240] 960] Y=TI5R
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PAR | 5| 3| 4| 4| 4| 4|5 ]| 3| 43| 4|4|4|3|4|5]|4|3]|5]3] 12
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